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Description
Q.1 Research can be conducted by any person who:

Qb 5165 Ul s IR el da M w1d] 21k B %

Question ID:
Marks 1 10092313
No Options Details Correct Option
1 | has studied research methodology Hllde Uegldell MYIY Y| & ,/
2 | holds a postgraduate degree Wofeildsell Uedl tRid &
3 | possesses thinking and reasoning ability [AyRqlel] Ao dS slel] gHAL HRAD B
4 | is a hard worker AW d Héeld SR &
Q.2 In which type of research are hypothesis and theory developed after data collection?
321 UAS Ul sUL USRe1L A AHT YdH Q1L 1 Rlegidl [AsAlddHi 241 B?
Question ID:
Marks 1 10092314
No Options Details Correct Option
1 | Quantitative Research HIALHS v2llded
2 | Applied Research Yy l[od ULlltsd
3 | Inductive Research Us Helldel v
4 | Deductive Research VLU Llels HQllte
Q.3 The term paradigm shift was coined by:
UASLOH (2182 A0t Blell GI21 HellddHi wLel] &d):
Question ID:
Marks 1 10092315
No Options Details Correct Option
1 | Karl Popper sld ylu:
2 | B. Thomas Kuhn YIHY Sl v
3 | C. Auguste Comte W1 sl
4 | D.Max Weber H5Y doR




Q4 In qualitative research ‘transferability’ is an alternative for judging which of the following in quantitative
research?

RIS URHA 21 s @] 1 HIAlHS At ol At Hiel] sUle) YRUisel sal HIS WS [Asey B7

Question ID:
Marks 1 10092316
No Options Details Correct Option
1 | Internal Validity B d RS HleUdl
2 | Objectivity dddeldl
3 | External validity WGl Hidl v
4 | Reliability CEYRIEARET
Q.5 A researcher is doing his legal research sitting in the library of his/her law university. What kind of

research is he/she doing?

s HMus Aol siuel YleAdRE)el aioAHi Al siueslA eildet 530 280l 8. d 3dl UslRe] uelldst 53

Question ID:
Marks 1 10092317
No Options Details Correct Option
1 | Doctrinal legal research Aegllds Sleojell vLllted ,/
2 | Non-doctrinal legal research [Wel-Aegllds Slefetl Al
3 | Comparative legal research qdellcHs Slejell ellted
4 | All of the above GURASA dHIH
Q.6 What is the main advantage of a cross-sectional study?
S1U-(Ae11901A WU [AsA) Yo s1Ue] Q) B?
Question ID:
Marks 1 10092318
No Options Details Correct Option
1 | It allows for the study of changes over time d UHU %l $5SRUeAL 1YL HI Udledl] AU
2 | ltis less time-consuming d el yHA HPIL G ¢
3 | It provides a snapshot of a population at a d ULSSH HHY ddlell eulle YA ULS 8 v
specific point in time ‘
4 | Itis more cost-effective d dy WA-B{UISRS O




Q.7 In qualitative research, the term “saturation” means:

QLS delldeiui “Ayelet” ofl el g 2ty B?

Question ID:
Marks 1 10092319
No Options Details Correct Option
1 | Data reaches maximum value SelHedH YR yul usll 8
2 | No new information emerges 519 od] Hiledl WeR Had] el v
3 | Data is duplicated Selesd Yy &
4 | All responses are same Y] o] MWL &
Q.8 Which method is used to test the difference between more than two means?
A 5l dy U] dAell dsldd Ysludl HIS 58 Ugg[dell GUAlL el B?
Question ID:
Marks 1 10092320
No Options Details Correct Option
1 | T-test el-e
2 | Chi-square test Y|-2sd? 2R
3 | ANOVA eld] v
4 | Regression ESFIE
Q.9 What is a placebo in an experimental study?
UIRPLS AeA U @) 9f B?
Question ID:
Marks 1 10092321
No Options Details Correct Option
1 | The experimental treatment UIRILPLS MRAIR
2 | A fake treatment with no active ingredients UlsY eesl [dellell «isdl dRdAIR v
3 | The dependent variable ¥ |[8d Y4
4 | The control group (AR g2l




Q.10

What is the purpose of statistical significance in research?

AAeeAH] MisSISIA Hedsil &d Q) B?

Question ID:
Marks 1 10092322
No Options Details Correct Option
1 | To determine the practical significance of the ~ U[RRLIH|e] A& Hecd «155] 5L HIe
results
2 | To establish cause and effect 5181 vl WA WL[Ud s HL
3 | To assess whether the results occurred by U[RRUHL 4L5[HS Ud WL 8 5 5H def HRULSe v

chance

4 | To ensure the study is ethical

URIY Alds O dell Widl sdL HLe

Q.11 What is the significance of conducting a literature review when identifying a research problem?
AeNtet UHRUL MNAW] dud Alles qHletl sdle] Q) Hecd B?
Question ID:
Marks 1 10092323
No Options Details Correct Option
1 | To avoid citing other researchers W] HllYslel 2lsdle] 2ludl Hie
2 | To copy and paste relevant information Aol(td Hiledl slUl 24e U sl HIe
3 | To identify gaps and build on existing VR WlNudl wel SlEeil Sllet UR [1HI8] $2dl v
knowledge
4 | To summarize the research problem Hlltel YHRYLAL AR AL HI
Q.12 What is the role of the research problem in forming research objectives?
AAleotoll GRUAL UsA M ALt HHRULeA] 4151 Q) B?
Question ID:
Marks 1 10092324
No Options Details Correct Option
1 | To limit the scope of the study WY Yol Ads1oled HYlled sl
2 | To make the research process longer d2llded Ulsdled dlod] odelldd] HIe
3 | To guide the research process Hellted Ulsdled HIleled A UL HI2 v
4 | To discourage further exploration dy Hellteie [+(2L Sl




Q.13 Null hypothesis is rejected when:

2ol Y R8IL ASRAIMI 2419 B oRUI3:

Question ID:
Marks 1 10092325
No Options Details Correct Option
1 P>0.05 P>0.05
2 | P P v
3 | P=0.05 P =0.05
4 | P>1.0 P>1.0
Q.14 The process of coding qualitative data involves:
LIS 32t s1SAeAl ulsyiui 2udd 8:
Question ID:
Marks 1 10092326
No Options Details Correct Option
1 | Assigning numbers {u| A udl
2 | Eliminating responses S le] g2 Sl
3 | Categorizing patterns UeeiH[ dd[[5:0 v
4 | None of the above GURlsdH Il 518 <lls
Q.15 Which of the following is an example of a research problem that is too narrow?
ol AetH il 53 A2lltel YHRULe, GLleWU B B W ASRId 8?2
Question ID:
Marks 1 10092327
No Options Details Correct Option
1 | "The effects of education on career success." "SIR[Stlell U501l U2 [2A&1QLA] AUR]."
2 | "How does socio-economic status impact "s16 YLS5Y ASHL G 2l letl [detle[M]H] ¢
educational attainment among high school
students in a specific city?"/
3 | "The relationship between exercise and " [UIH el 56 22 dR]<l] Hold."/ v
overall health."
4 | "Why do people go to college?" dlsl sl SH A 8972




Q.16 What is a quasi-experimental design?

W YRIPLS (SHleet 2 872

Question ID:
Marks 1 10092328
No Options Details Correct Option
1 | A design with no control group 519 [~ %Y [deiled] [SHI8el
2 | A design that involves random assignment LS [SHLBet UL eSH UIUBLlel] YU Il &l &
3 | A design that mimics experimental conditions A5 [S218l % 3=5H AU [dedl UIL[1s Ul[e v
without random assignment
4 | A design used only for exploratory research ~ §5c d2llteilcHs YLl Hie dUldl [SHALYet
Q.17 Lexis Nexis, Westlaw are
A(sdYU AlsUY, dedl 8
Question ID:
Marks 1 10092329
No Options Details Correct Option
1 | Online legal database WA 18] Slofeil Selod v
2 | Method of citation WLl Uggld
3 | Style of writing in legal research Slojell YQUltAH ] dulolei] Qld]
4 | All of the above GURAS dHIH
Q.18 Coding schedule is used in
$1(391 A5ydetl GUALL YL &
Question ID:
Marks 1 10092330
No Options Details Correct Option
1 | Discourse analysis Udet [N L
2 | Rhetorical analysis 2054 [d&NBL
3 | Content analysis AHAL [Asdnal v
4 | Narrative analysis dRlellcHs (ANl




Q.19 Given below are two statements: Statement |: Data analysis in research is a technical job, thus ‘research
ethics’ does not matter. Statement II: ICT is helpful during the data analysis stage of research
{12 A (Aulell w106l B: (Ariletl: AN AU 321 (RN RS dse{lS] sid §, dell Nt w1ARAIR' 1L S\
Question ID:
Marks 1 10092331
No Options Details Correct Option
1 | Both Statements | and statement Il are true [dtllel] el [dllelll AY1ALE.
2 | Both Statements | and statement Il are false  [dtllel] 3ol [d¥|l]] u[21E. ,/
3 | Statements | is true but statement |l are false.  [dtllell YU [dHl o] WIZH.
4 | Statements | is false but statement Il are true.  [dtllell WIZURL[At LIl YIYE.
Q.20 Highlight the statistical tools that are available to a researcher in the research process: (a) Measure
central tendency (b) Measure of dispersion (c) Measure of asymmetry (d) Measure of relationship Choose
the correct answer from the options given b
dQllbel UlsAH AAYS HIZ Gudet HisSISIY Aldedla slodlse 5 (a) el ddlsl HIU (b) [dWRdls]
Question ID:
Marks 1 10092332
No Options Details Correct Option
1 | Aand C only A ¥{slC HIA
2 | A,CandD only HIAA, C ¥l D
3 | B,C and D only Y|7B, C ¥ D
4 | AB,C and D only A, B,C¥sDHIA v
Q.21 Hypothesis testing is based on which type of logic?
YdH 2611 UFlelRl sUl UsIRell ds U 1H1Rd 872
Question ID:
Marks 1 10092333
No Options Details Correct Option
1 | Deductive W[5 v
2 | Inductive Uls
3 | Analogical ddelldds
4 | Dialectical dsueg(d




Q.22 A variable that affects the relationship between independent and dependent variables is called:

o Wl ALAd UG) dRed| oita WU Sl UG sSclHi w1 B:

Question ID:
Marks 1 10092334
No Options Details Correct Option
1 | Moderator Variable Hel® g
2 | Extraneous Variable WLy yg
3 | Intervening Variable Hee| Yq v
4 | Controlled Variable (e[ U
Q.23 Longitudinal studies focus on:
U491 WAL Aletl UR &llel Blogd 52 B
Question ID:
Marks 1 10092335
No Options Details Correct Option
1 | Studying one point in time LS YHY WS Heleodl RALY Sl
2 | Observing changes over time AHYIALUL JHY LA $51R %ldl v
3 | Studying historical events U [dsllAs e Al HARY
4 | Testing hypotheses Yd e 1RRURA L] UR|&
Q.24 Which of the following indicates the strength and direction of a linear relationship?
o121 U] s\ Juily Hoitedl dlgdl 4144 (€21l e21ld 82
Question ID:
Marks 1 10092336
No Options Details Correct Option
1 | Standard deviation YHIRIe [dAdet
2 | Regression coefficient ESREREIE
3 | Correlation coefficient HSUWY IIQLLS v
4 | Variance [aleigidl




Q.25 The main types of validity encountered in research design and methodology are (A) Internal (B) External
(C) Construct (D) Statistical conclusion. Choose the correct answer from the options given below:
At (S8 waA Ueg [dHi YuAd UslRell Hisdl oA Yool 8: () Aid[Rs (udl) ediad () el (S]) wiss
Question ID:
Marks 1 10092337
No Options Details Correct Option
1 | Aand C only A WAC HIA
2 | A,CandD only HI5A, C ¥l D
3 | B,C and D only HIAAB, C ¥l D
4 | AB,Cand D only A, B,C¥s DHIA v
Q.26 Which of the following statements accurately describes the relationship between research questions and
research design?
ol et Hief] 53 (qAtilel A eted U W ALltet [SLeet dRel] Aeitie] AALe dle 53 B2
Question ID:
Marks 1 10092338
No Options Details Correct Option
1 | Research questions should be formulated A2lltel [SHL8el Ude sAL UL vllet Usll 85d
after the research design has been chosen.
2 | Research questions dictate the appropriate HQlltlel UL YU Y2ultel [SHLEe o1sS] 52 6. v
research design.
3 | Research design should be flexible enough to  42lltlet [SHLYe1 GHL ALlltel Ul HH Ll -
accommodate emerging research questions.
4 | Research questions are independent of the Hollted Usll Yollded [SHL] xddA .
research design.
Q.27 A review of literature helps a researcher to:
Ullecuell yilal Aollusa Hee 52 8:
Question ID:
Marks 1 10092339
No Options Details Correct Option
1 | Avoid plagiarism AllsuylR] elndl
2 | Identify research gaps ALl AR lnwdl
3 | Finalize hypothesis YdH 1RQUL #1551 sl
4 | All of the above GURAUSd dHIH v




Q.28 A pilot study is conducted to:

WS Y Ele MEYY WL HI €8 Y IHi w1d 8:

Question ID:
Marks 1 10092340
No Options Details Correct Option
1 | Testfinal results v [dH URRLM el
2 | Identify main variables Hu Yd 3lnwdl
3 | Test feasibility of the study V@Y [Hel] ASUAL ASIUdL v
4 | Publish findings early dlRell dedl ustlld sl
Q.29 The F-test is:
as-é%a 9:
Question ID:
Marks 1 10092341
No Options Details Correct Option
1 | Essentially a two tailed test i [eld 1Y UL g 2665 2R
2 | Essentially a one tailed test W[ YRl def 26ES 2R
3 | Can be one tailed as well as two tailed Yy [ UR W LHIR AW e def 26ES 22 dHY v
depending on the hypothesis
4 | Can never be one tailed test SUIRYU del 2HES 22 ol S1Y 2US
Q.30 In which of the following scales(s) variables cannot be ranked? (i) Interval scale (ii) Ratio scale (iii) Ordinal
scale (iv) Nominal scale Select the Correct Code:
o1 Ast 1 i8]l sUIBE(A)) YAl sHI[5 53] ALl Aeil? () vid1d 36 (i) RN B (jii) M [Selel B¢ (jv)
Question ID:
Marks 1 10092342
No Options Details Correct Option
1 [ Only(ii) HIA (ii)
2 | Only (iv) HIA (iv) v
3 | Only (ii) and (iii) HIAL (i) el (i)
4 | Only (i), (i) and (iii) HIAL (i), (i) el (iii)




Q.31 A researcher divides the whole population in different parts and then fixes the number of units from each
of the parts that are to be included in the sample. The method of sampling used by him is-
5 AAUS AHA dxcdlad el el HINUI [AHIDA 52 8 WA U] Ayttt AHLAR Salell €35 MMl »
Question ID:
Marks 1 10092343
No Options Details Correct Option
1 | Stratified random sampling xRS Ul RS olyeil
2 | Cluster sampling NHWL olHel]
3 | Quota sampling salel qnuldal v
4 | All of the above GUASdHIH
Q.32 Which of the following research methodologies is most closely associated with the positivist philosophical
framework?
o1 Ast 11 iel]l 56 A2Ntst Ueg(d ASRAMS elollels Hlnul 118 el ay % sell Asndd] 92
Question ID:
Marks 1 10092344
No Options Details Correct Option
1 | Grounded theory ALGeS [
2 | Ethnography BT
3 | Experimental research IRALPLS Helle v
4 | phenomenological research VU LLREL YLllYe
Q.33 Which type of validity examines whether a test truly measures the concept it claims to measure?
SALUSIRAL Hlsddl A dUID B 5 ] 518 5121 WRAWR d wlga HID B %sil A HIUst 5dlell £ld) 53 8?2
Question ID:
Marks 1 10092345
No Options Details Correct Option
1 | Construct validity W el HleYdl v
2 | Content validity (AN HleAdlL
3 | Criterion validity HIUES Hlisddl
4 | Face validity s dldlsel




Q.34 What is the primary purpose of using a double-blind study in research?

A2 SHE-0E 185 WUl GUALIL sClell Yu &d Q) 87

Question ID:
Marks 1 10092346
No Options Details Correct Option
1 | To reduce bias from both researchers and HUlesl vl USR] oo dsUl UULd elels v
participants
2 | Toincrease the sample size o{Hellell SEHL dUlR]
3 | To eliminate the hypothesis YdH 2Rl ¢ 59
4 | To save time HYY wfylddl
Q.35 In qualitative research, which method is most appropriate for studying lived experiences?
JRlLcHS AU teA T, dd Bojeidell ALY HIS 58 U [d Al A1oU 87
Question ID:
Marks 1 10092347
No Options Details Correct Option
1 | Phenomenology FERENEIED) v
2 | Ethnography VEEISTE
3 | Grounded theory ALBeSS (LU
4 | Case study 54 sl
Q.36 Identify the correct synonym for the word "Ephemeral:
"W FNRG" 20goil AR A Lot 2] 210e wlAui:
Question ID:
Marks 1 10092348
No Options Details Correct Option
1 | Eternal 1&ld
2 | Short-lived 25l UHY HIR v
3 | Powerful lsdellal
4 | Flexible URdd«&H




Q.37

2 152le1] ¢[BA AR AU Uie 52

Choose the grammatically correct sentence:

Question ID:
Marks 1 10092349
No Options Details Correct Option
1 | Neither of the boys have done their homework Neither of the boys have done their homework
2 | Neither of the boys has done their homework  Neither of the boys has done their homework v
3 | Neither of the boys have did their homework.  Neither of the boys have did their homework.
4 | Neither of the boys has did their homework. Neither of the boys has did their homework.
Q.38 Choose the correct meaning of the idiom "to let the cat out of the bag":
"8l sleoluiell el siadl” s&ddsil Al wef urie 52
Question ID:
Marks 1 10092350
No Options Details Correct Option
1 | To be honest ALY oledl
2 | Toreveal a secret IH Hifedl o1& s:dl v
3 | To calm someone down 5194 2lld Sdl
4 | To help someone 519l Hee sl
Q.39 "Subtle" means:
"ye ol we 9f 82
Question ID:
Marks 1 10092351
No Options Details Correct Option
1 | Very obvious U0 % R
2 | Veryclear U] B
3 | Delicate and not obvious ol |%S ol WY o12]] v
4 | Very loud Wl 1Rl
Q.40 The term "synecdoche" refers to:
"RiA5S1A" 2logell wel 4l B
Question ID:
Marks 1 10092352
No Options Details Correct Option
1 | Apartis used to represent the whole s M1letl GUALIL YHAUe Uld[eAltlcd sl HIe € v
2 | The whole represents a part AL1oLe] YHAY Uld[ellted SaAL ML
3 | A direct comparison Hldl qd-il
4 | An exaggerated statement W[ [SAYRL [idgst




Q.41

If "ABCD" is coded as "1234" and "EFGH" is coded as "5678," how is "IJKL" coded?

o) "ABCD" ol "1234" d|3 515 $cHi w1A & wel "EFGH" & "5678" d3 SIS $clHi 211d 8, dl "IUKL" 58

Question ID:
Marks 1 10092353
No Options Details Correct Option
11 91011 91011
2 [ 91012 91012 v
3 | 91013 91013
4 [ 91112 91112
Q.42 Which of the following is the next number in the series: 2, 6, 12,20, 30, __ ?
o{13 A el sHHie] w1106 AR $U) B: 2, 6, 12,20, 30, ?
Question ID:
Marks 1 10092354
No Options Details Correct Option
1 | 40 40
2 | 42 42 v
3 | 48 48
4 | 60 60
Q.43 If the letters of the word “REASONING” are arranged alphabetically, what will be the 6th letter in the
arrangement?
%] “REASONING” 2L0£il WER1A Yo 1e1R] UHIQL Aedd M 414, dl d A6 ilHi 6 Hl #elR s &Q1?
Question ID:
Marks 1 10092355
No Options Details Correct Option
111G G
2 |1 [ v
3 | N N
4 10 0o




Q.44

In a class of 50 students, A is 20th from the left and B is 30th from the right. If A and B interchange their
positions, then what will be their positions from the left?

50 (caieffailetl adMi, A Slofl tiiegell 2041 w4 B sHRl vi1gell 3041 53 8. %) A A B dusfl Relld viedl

Question ID:
Marks 1 10092356
No Options Details Correct Option
1 | 20th and 30th 20th and 30th
2 | 21stand 29th 21st and 29th v
3 | 22nd and 28th 22nd and 28th
4 | 23rd and 27th 23rd and 27th
Q.45 In a certain code, "MOBILE" is written as "NPKCFM." How is "TABLE" written in that code?
516 (a3 51SHQ, "MOBILE" @l "NPKCFM" d3l% dwdidi w1d 8. "TABLE" 6 Ild dwdiHi #41dQl?
Question ID:
Marks 1 10092357
No Options Details Correct Option
1 | UBMFC UBMFC
2 | UCMBF UCMBF
3 | UCMBF UCMBF v
4 | UCNBF UCNBF
Q.46 Which of the following is true regarding the TCP/IP protocol?
TCP/IP Wl2lsld 2 «{lAniell 53 413 87
Question ID:
Marks 1 10092358
No Options Details Correct Option
1 | TCP and IP are two separate protocols TCP el IP 3 o] 3{ddL lelsld €9 % xddAA :ld ¢
working independently
2 | TCP ensures the delivery of data packets, and TCP S2l Us2deil [S[adR] Yleilsdd 52 & Wl IP v
IP handles the addressing
3 | TCP and IP are part of the HTTP protocol TCP Ul IP 3 HTTP Ulelsldsil e119] 8.
4 | TCP is used for email communication, and IP TCP 9Hd 4&lIUdER HI2 Wl IP §196 2les:

for file transfer




Q47 Which of the following is not an example of an operating system?
o{1Ae]] 53 WU RieHs] GelsL «iei]?
Question ID:
Marks 1 10092359
No Options Details Correct Option
1 | Windows [deSlay
2 | Linux CEE]
3 | Chrome slH v
4 | macOS Hsu Y
Q.48 Which of the following is a valid IP address?
{12l 53 HlL IP UeAY B?
Question ID:
Marks 1 10092360
No Options Details Correct Option
1 | 192.168.1.300 192.168.1.300
2 | 256.256.256.256 256.256.256.256
3 | 172.16.25.10 172.16.25.10 v
4 | 500.100.100.100 500.100.100.100
Q.49 Which of the following is the fastest memory in a computer system?
512123 (Ui {1 Astiniel]l 56 AU Alell »sul 82
Question ID:
Marks 1 10092361
No Options Details Correct Option
1 | Hard Disk LS [S¥s
2 | RAM M
3 | Cache Memory 59l HHR| v
4 [ ROM A1
Q.50 What is the primary function of the BIOS (Basic Input Output System)?
BIOS (A[35 Beiye 311G2y2 [eH) « ulellis st g 82
Question ID:
Marks 1 10092362
No Options Details Correct Option
1 | Booting the operating system WU (231 [MeH ofe sdl v
2 | Managing network traffic a12d$ 2ll§5e] UULEeA 523G
3 | Controlling memory management HHR| He%HeRo] [4ARL 59
4 | Providing user interface Yh He25Y Y2 ULSq,




Q.51 The Delhi High Court in the Naz Foundation case supported which of the following relationships between
law and morality?
o112 51632 JUHI [6cS] sIF51E s1Uel W Aldsdl 4Rt {1 Astiniel] sUL Aoit Yuelst 1412
Question ID:
Marks 1 10092363
No Options Details Correct Option
1 | Enforcement of public morality is subject to SR elldSclell MHE HNGd 1 [HS[ReA w1 € v
fundamental rights
2 | Criminal law can enforce public morality sloselR] SIIEL e elldsdl dld) s AS &
3 | Criminal law must enforce public morality SIEIR] SIUEI 1R elldSsdl Eld) sl 1wl
4 | Constitutional morality requires the WY REIY aAldsdl Hie e aAldsdlell WHE e

enforcement of public morality

Q.52 Consider the following statements: 1. Precedents help in the progressive development of law 2. Copyright
is a corporeal right 3. In the process of interpretation judges do make the law.
o{1Astl (Aetlolle LM €): 1. s1AELAL WILlARNE (s Yd =R Hee 52 8 2. sTURLBe WS Yd H[ES1R
Question ID:
Marks 1 10092364
No Options Details Correct Option
1 | All are correct AETRETR:]
2 | 1and 2 are correct Fue YUY
3 | 1and 3 are correct T 3HRULY v
4 | Only 1is correct §sAd LURIL Y
Q.53 Balancing of social interests and the doctrines of social engineering is the greatest contribution to
sociological school. This is attributed to whom? /
UMHLCsS [Sd) 1A UMLLsS pAetl Riegidle] dest 2 AHesAIB0U A M A H1E Adleled B, 2L S
Question ID:
Marks 1 10092365
No Options Details Correct Option
1 | Duguit shre
2 | Roscoe Pound Al ULBeS v
3 | Savigny Aldall
4 | Jhering »R3AL




Q.54 Cicero’s conception of natural law is based on the idea that 'true law is right reason in agreement with
nature.' Reason is key element because:

RIARAeAL Secdl s1aelell vale 2 (1R U HIELRA B 5 AR SI”4El A e AL YRAU A1) SR D' 51

Question ID:
Marks 1 10092366
No Options Details Correct Option
1 | Itis a sin for humans not to apply reason HleAd [ Hie $1R81e1] GUALIL o 5L A YU 8
2 | The principles of natural law are discoverable  §&dl SIUEL-ll [Megldl 518 GIRL AlHL 2SI &
by reason
3 | Natural law does not apply without good Sedl SIRIEL UIRL SIREL [cletl 19, USdl «18l].
reason
4 | The law of nature is the basis of all positive Sedl SIUEL ¥ WHL USRIHS SIRIEIMLAL H[UR v
law
Q.55 "Custom precedes legislation and hence is superior to it and the legislation must conform to the principles
of custom." This principle is a basic feature of which school:
"Rales sldel sl uSdl w1d & 1A ALl d deil 5l AB B A s1Uel RaAl%ell [Regidle] Uldel 5] €ld] 2
Question ID:
Marks 1 10092367
No Options Details Correct Option
1 | Sociological A ey 2LLB [
2 | Historical v[dellds v
3 | Analytical (AN RILHS
4 | Natural Serdl
Q.56 is the Article of the Indian Constitution providing for State to take steps to separate the
judiciary from the executive in the public services of the state
W HRALY 6t R A5 Wf2e B B U A%RUA] HER A MU A SRII1] 46
Question ID:
Marks 1 10092368
No Options Details Correct Option
1 | Article 21 o269¢, 9
2 | Article 43 WRE9¢, ¥3
3 | Article 50 Le89¢, Yo v
4 | Article 17 wo269¢, 19




Q.57 Which Article of the Indian Constitution provides that no discussion in the legislature can take place on the
conduct of the judges?

MRcllY Gt R1lell 5UL WADEMT w1 B AL 2A)ell ddQLs UR ([Qul-iuetiHi 516 uAl A sl «iell

Question ID:
Marks 1 10092369
No Options Details Correct Option
1 | Article 121 A4 1A v
2 | Article 125 WefE9¢, U
3 | Article 221 We269¢ 29
4 | Article 124(7) W{RE9¢, 1%(9)
Q.58 Five Judges Constitution Bench held that imparting Education cannot be treated as a Trade or Business in
which of the following cases
Uiy s igleisdl oitReNld A «155) 53 sq 3 (RLeil wiudia AUIR Hedl el d13 210 sl 4], ¢
Question ID:
Marks 1 10092370
No Options Details Correct Option
1 | Unnikrishnan’s case GelsNAetat] 5U v
2 | Mohini Jains case Hlleell %l 54
3 | Dinesh Kumar's case (o121l SHIR-L 5U
4 | P.A. Inamdar’s case Ul 3, gellHeReAL S
Q.59 The principle of “procedural justice” is concerned with:
"Y(sALSIA A" ol Riegid A1 uildd B:
Question ID:
Marks 1 10092371
No Options Details Correct Option
1 | Fairness in the outcomes of a legal process Slejell UlsAlel VRRIHIHL [«13&ldl
2 | Fairness in the procedures used to resolve [ddleled G5Edl Hie dudl UsULIML [A8d&ld v
disputes
3 | The severity of punishment for crimes et || Hle Alell AW ALY
4 | The speed of legal proceedings slefetl sldlEleAl HSU




Q.60 Under Article 324 of Constitution the Election Commission of India shall be responsible to conduct
election. To give answer using codes given below: a) Parliament and State legislatures b) President and
Vice President c) Zilla Parishad and Panchayats d)
GiE1RBle1] W 28D¢ 324 601 MIRcHlU Y2Rll Uy Yl Alwdl Hie FdleelR 2EQL. «11A 11Ul 515e1l GU)L £
Question ID:
Marks 1 10092372
No Options Details Correct Option
1| (a), (b), (c) and (d) (a), (b), (c) ¥l (d)
2 | (a) and (b) only (a) ¥el (b) HIA v
3 | (a), (b) and (c) (a), (b) ¥l (c)
4 | (a), (b) and (d) (a), (b) ¥l (d)
Q.61 Public Interest Litigation in India is to be linked with /
HIRAH &R (Edtell 2% U1 %\s1A] sldl osle5A /
Question ID:
Marks 1 10092373
No Options Details Correct Option
1 | Judicial Review *||[Ys yH[ell
2 | Judicial Activism R [YS U[sYdl v
3 | Judicial Intervention R[S &Y
4 | Judicial Sanctity R |[4s UldAdL
Q.62 The concept of "Public Interest Litigation (PIL)" in India allows:
HIRAHI "R (Sdofl 229)e1] (PIL)" vld Aol ol 410 B:
Question ID:
Marks 1 10092374
No Options Details Correct Option
1 | Corporations to initiate legal action for their sIUlR2lell dHell [ed HLe Slejell slAdlE] e 5%
interests
2 | Only lawyers to initiate legal action slejell slAdlE] Qe 5L HIe §5d dslal
3 | The government to initiate legal action against U512 «112L[Rs] UIH Slefeil slAdLE] e 5281
citizens
4 | Any citizen to initiate legal action for public 1R [Sdell olloddl Hie S1OURL 1 1L[RS Slejell S v

interest matters




Q.63 The “Universal Declaration of Human Rights” was adopted by the UN General Assembly in the year

/

"ot W [E51RAs1l ULA(ELS LINGLU" A YR el o W] G121y

SEICTSTRITRATISINCT

Question ID:
Marks 1 10092375
No Options Details Correct Option
1 | 1948 1948 v
2 | 1946 1946
3 | 1945 1945
4 | 1966 1966
Q.64 Who was the first chairman of the commission on human rights?
Hioldl W [ES12 Yt Ui AU 518 &dl?
Question ID:
Marks 1 10092376
No Options Details Correct Option
1 | Thomas Jefferson / YIHY %5
2 | Thomas Paine / Y HY Ugel
3 | Eleanor Roosevelt / WGed ]2 1R v
4 | None of the above GURLsdHI] 519 el
Q.65 Louis B. Sohn has classified human rights into how many categories.
qoA ofl. Ale Hleld w[Es1R1A 3eel AllHi aolsd sul 8
Question ID:
Marks 1 10092377
No Options Details Correct Option
115 5
213 3
3|4 4
412 2 v




Q.66 In which landmark case did the Supreme Court of India declare Section 303 of the Indian Penal Code
unconstitutional?

sul {HIRIGERU SUHT eRdedl YulH 518 ARl £5 AlEdledl saH 303 A Aeid Ry e 5317

Question ID:
Marks 1 10092378
No Options Details Correct Option
1 | Darshan Singh v. State of Punjab / 62lel [Mel [daeg Uosiod A
2 | Mahabir Ghosh v. State of Tamil Nadu HelWlR gl [d. d[Hdellg A
3 | Mithu v. State of Punjab (1 [l Yooy A% v
4 | Sita Ram v. State of Madhya Pradesh AldlAH [d. Heg yeol A
Q.67 Which section of the IPC pertains to 'abetment of an offence, punishable with death or imprisonment for
life if an act, which causes harm to be done in consequence of the abetment’?
IPC «il 56 564 "N dl st Ui G230, B YYES M| A 2del Seofl AUl 1Y, %) 516 5 1Y, B GV
Question ID:
Marks 1 10092379
No Options Details Correct Option
1 | Section 115 544 994 v
2 | Section 116 ECER RS
3 | Section 117 564 999
4 | Section 118 544 99¢
Q.68 Which section of the IPC deals with the punishment for ‘criminal conspiracy’?
IPC «{l 58 $6H Jetifed Slddd’ HIS U Al& Hoildd B2
Question ID:
Marks 1 10092380
No Options Details Correct Option
1 | Section 120A 564 9R0A
2 | Section 120B 544 9:0B v
3 | Section 121 ECR A
4 | Section 122 564 9




Q.69 In India the Protection of Women from Domestic Violence Act was enacted to address issues related to:

HIRAHI 839 (L] Hlsa{lell 2e1le1) S1UE) oflAstl Y 1Mo Aolltal Hie €SI w L] &d):

Question ID:
Marks 1 10092381
No Options Details Correct Option
1 | Dowry harassment £8% UdHRI
2 | Child marriage W10 €Y
3 | Domestic abuse and violence g ¢S el [eYl v
4 | Workplace harassment 51RO HdH I
Q.70 Sections 96 to 106 of the Indian Penal Code deal with which legal concept?
HIRALY £5 Al&dlell 56 96 &l 106 5UL Slojeil LALE A1 AR 52 B?
Question ID:
Marks 1 10092382
No Options Details Correct Option
1 | General exceptions AlHIR AYd el
2 | Private defence [NEEEAEIE] o
3 | Criminal conspiracy Jeillsd slad>
4 | Abetment Geswll
Q.71 Assertion (A): A consumer can claim compensation for defective goods even without suffering actual
damage. Reason (R): Under the Consumer Protection Act, compensation is always awarded regardless of
actual loss.
(ctiletl (A): ALSS dlRd[dS o5 lot Ut SUL [Aetl URL WIS Hid HIR dndRell eld) 53] 20 . 514 (R):
Question ID:
Marks 1 10092383
No Options Details Correct Option

1 | Both A and R are true, and R is the correct A el R 0o YL, Aol R ¥ A ol AL AU

explanation of A
2 | Both Aand R are true, but R is not the correct A el R 6ol YU 8, U R ¥ A i AIJ] dHYd

explanation of A
3 | Aistrue, butR s false AUIY 8, Ug R Ul 8. v

4 | Aisfalse, but R is true AUIE 8 URd RAUIY 9.




Q.72

Match the legal concept with the relevant provision or law:

Column A (Concept)Column B (Law/Section)a. Quasi-contract i. Sections 68-72, Indian Contract Actb.
Negotiable Instrument ii. NI Act, 1881c. CSR Obligation iii. Section 135, Companies Act, 2013d. LLP
Incorporation iv. LLP Act, 2008

$lojeil vaLdla Aoiltd s1ael /2A1dISBil 418 Aadl

Column A (ulldl)

Column B (514&L /56H)

a. ud SR i MRALY 5AR °IR), s6M 68 &l 72b. AN RN UG BN i, NRIA N o222 Wse, 1881

Question ID:
Marks 1 10092384
No Options Details Correct Option
1 | a-i, b-ii, c-iii, d-iv ¥ -, o] - i, "l -iii, Sl -iv v
2 | a-ii, b-i, c-iv, d-iii ¥ i, ol -, "l -iv, Sl -
3 | a-iii, b-iv, c-l, d-ii ] i, Gl -iv, Al -, SL-ii
4 | a-iv, b-iii, c-ii, d-I ¥ - v, ol - i, |l -ii, SL-i
Q.73 Assertion (A): In tort law, even a lawful act can be a tort if done with malicious intent. Reason (R): The law
always requires proof of illegality to constitute a tort.
[Atlel (A): MUSAL SIAEIMI, %) sIARURe] s1 getldat iyl s1elell scMi 241 d)l d Ul 2usl olefl 203 B
Question ID:
Marks 1 10092385
No Options Details Correct Option
1 | Both A and R are true, and R is the correct Aol R 0ol YIAL S, WA R ¥ A ofl AL qHYd
explanation of A
2 | Both A and R are true, but R is not the correct A 3ol R 0ol HIUL 8, U R ¥ A oil A1 AHYd
explanation of A
3 | Aistrue, but R is false AR Y, UIRg R UWIE 9. v
4 | Alis false, but R is true AU 8, URd R 1Y 8.

Q.74 In tort law, the principle that a person who suffers a special damage from a public nuisance can sue is laid
down in which case?
WUSAL SIUEIMI, 2SR GUgdell Wi o sUlel Ut SetIR U5 eldl 531 A3 B A Riegicd suL 3L FUlRd
Question ID:
Marks 1 10092386
No Options Details Correct Option
1 | Donoghue v. Stevenson Slelldy [d. 2 lde e
2 | Rylands v. Fletcher 65 [d. s4UR
3 | Ashby v. White ¥Qlud] [d. cslde
4 | Campbell v. Paddington Corporation s40lg [0, U[sdee sluleled v




Q.75 Which section of the Consumer Protection Act, 1986 defines ‘unfair trade practice’?

ALES Y&l A (144, 1986 «fl 58 56H WaiRld AUIR] U A A uALRId 53 B?

Question ID:

Marks 1 10092387
No Options Details Correct Option
1 [ Section 2(1)(r) 564 2(1)(r) v
2 | Section 2(1)(g) 564 2(1)(g)
3 | Section 3 564 3
4 | Section4 5d4 4
Q.76 Match the Legal Concept with the Case Law

Column A (Concept)

Column B (Case Law)

a. Duty of care i. Donoghue v. Stevensonb. Strict liability ii. Rylands v. Fletcherc. Tortious liability of
State iii. State of Rajasthan v. Vidyawatid. Absolute liability iv. M.C. Mehta v. Union of India

Slojeil vALdlal 34 €l e dndl
A A (5EUsil)
¥ B (3 sluel)

a. A1 Adlefl 59 i. Slelloy (d. W@Wldartel b. Yad wAlHelZ] ii. 254 (d. AU ¢. AWl USRS

Question ID:
Marks 1 10092388
No Options Details Correct Option
1 | a-i, b-ii, c-iii, d-iv a-i, b-ii, cHiii, d-iv v
2 | a-ii, b-i, c-iv, d-iii a-ii, b-i, c-iv, d-iii
3 | a-iii, b-iv, c-i, d-ii a-iii, b-iv, c-i, d-ii
4 | a-iv, b-iii, c-i, d-ii a-iii, b-iv, c-ii, d-i
Q.77 Assertion (A): A company is considered a separate legal entity distinct from its shareholders. Reason (R):

This principle was established in the case of Salomon v. Salomon & Co. Ltd.

(Aelst (A): SUsilal dell Qe8] WadL Slojel] 1 Redcd A M 11 B, S1R8L (R): w1 Riegid Al (d, -

Question ID:
Marks 1 10092389
No Options Details Correct Option
1 | Both A and R are true, and R is the correct A R Olol UL Y, wel R ¥ A o] AR AHYA v

explanation of A

2 | Both AandR are true, but R is not the correct A el R 6ol UL 8, Ug R ¥ A ol Y] AHYd
explanation of A

3 | Aistrue, but R is false AU Y, UIRgR UWIE 8.

4 | Aisfalse, but R is true AUWIE O R RAUIY 6.




Q.78 CSR (Corporate Social Responsibility) is mandatory for companies having:

o{1Qsf]l Sus{ladl Hldd] Susfladl Hi2 CSR (SIURe AlR1ud Rl (04(62)) sAeuld B:

Question ID:
Marks 1 10092390
No Options Details Correct Option
1 | Turnover of 100 crore 100 52USe] 2eludldR
2 | Net worth of 3500 crore IUoo 5| Setl Ulwu] [sHd v
3 | Paid-up capital of 1,000 crore 31,000 5USeil MULEY YJE] Yl
4 | Net profit of 32 crore TR SUSell Ylva] o1l
Q.79 Where will you find the definition of "sale by description"
"dRlel GIRLAULRL" «il UL dHA KU HNLl?
Question ID:
Marks 1 10092391
No Options Details Correct Option
1 | Insection 15 of the Sale of Goods Act 1930  HI4 dY 1L A [t[4YH 130 <l $6H U Hl v
2 | Insection 14 of the Sale of Goods Act 1975  HI4 dUIQL A [u[4YH 1€ «i] 544 1% HI
3 | Insection 16(1) of the Sale of Goods Act 1979 HId dYLQL W[t [1YH 1€I¢ il S6H 1g(1) Hl
4 | ltis not defined in the Sale of Goods Act 1979. HIG dULQL W [8[YH 19¢ HI deil Alu| 2 1Ud
The common law has given guidance as to its
meaning
Q.80 Assertion (A): All companies in India must compulsorily spend 2% of their profits on CSR. Reason (R):

CSR is mandatory only for companies meeting certain financial thresholds.

(clellel (A): MIRAH Witf] $UeflN2 AMell ofSlotl 2% CSR UR SAUALAUL W 5201l USL. S121L (R): AlssU

Question ID:
Marks 1 10092392
No Options Details Correct Option

1 | Both A and R are true, and R is the correct Aol R 0ol YIAL S, Aol R U A ol AL qHKd

explanation of A
2 | Both Aand R are true, but R is not the correct A el R 6ol YU 8, U R ¥ A i Y]] dHYd

explanation of A.
3 | Aistrue, butRis false AU 8, Ug R UL 8.

4 | Aisfalse, but R is true AUIE 8 URd RUIY 9. v




Q.81 Under Hindu Law, which of the following marriages is considered valid even if solemnized without sapinda
clearance.

(&g, s1uel &0, o{lAstiMiell sUL @ A[SLHAYRL (Aot l Yol 2t dl Yl Hist AR H] 2419 §7?

Question ID:
Marks 1 10092393
No Options Details Correct Option
1 | Asura marriage WY €A
2 | Anuloma marriage lefdlH |4
3 | Gandharva marriage dlltd @y v
4 | None, such marriage is void 519 «lel, vildl 4l euldd 8§
Q.82 Which of the following judgments discussed the legality of live-in relationships in India
{1 Ast1niel]l sUL YslelMi HRAMT [Ad-8e1 RAA U] SIRIBUAL 24 YAL 5 1M wLd] &dl?
Question ID:
Marks 1 10092394
No Options Details Correct Option
1 | Vishaka v. State of Rajasthan [alLsl [d. ARl UL
2 | Indra Sarmav. V.K.V. Sarma &og ML [d. dl.5.dl. ™ v
3 | Joseph Shine v. Union of India olUS AULOe [cl. Yleddet s OS]
4 | Danial Latifi v. Union of India Slyd ddlsl [d. Y[1et w41 Sl
Q.83 Assertion (A): A marriage solemnized under Hindu Law is not invalid merely because the parties are of the
same gotra. Reason (R): The Hindu Marriage Act does not prohibit marriage within the same gotra.
(Adlst (A): (&g, SIUEL €601 SAAAL AU 55 Wedl HIS WML o2l 5121 S 6ol Uell WS % Il 8. 5128 |
Question ID:
Marks 1 10092395
No Options Details Correct Option
1 | Both A and R are true, and R is the correct Al R 0o IS, Aol R U A o] AL qH%YdA v

explanation of A

2 | Both A and R are true, but R is not the correct A el R 6ol YU 8, Ug R ¥ A i Y] 4HYd
explanation of A
3 | Aistrue, but R is false AU 8, Ug R Ui 8.

4 | Alis false, but R is true AU 89 Ud R UIY O,




Q.84 Assertion (A): A foreign decree of divorce obtained on the ground of irretrievable breakdown of marriage is
always valid in India. Reason (R): Indian courts follow a liberal approach to recognize all foreign
matrimonial judgments.

(Aeilel (A): dUotl [csdyedlY eidlIRletl 1R NNdd g9218S1q] (dzefl esHellY MIRdHT $NQll Ui & 8. &

Question ID:
Marks 1 10092396
No Options Details Correct Option
1 | Both A and R are true, and R is the correct Aol R 0ol YIAL S, el R U A ot HIUL Y-
explanation of A
2 | Both A and R are true, but R is not the correct A 3ol R 0ol HIAL 8, U R 3 A ofl A1 qHYd
explanation of A
3 | Aisfalse, butRis true AU 8, URd R 1Y 8.
4 | Both A and R are false A¥el R 0o W21 &, v
Q.85 The doctrine of ‘Factum Valet’ in Hindu Law relates to
[Sot, sIULIML S5 dQ2ell [tegid doiltd B
Question ID:
Marks 1 10092397
No Options Details Correct Option
1 | Widow remarriage [dedl YadU
2 | Presumption of legitimacy slleAdled] YR
3 | Validating an act which is otherwise irregular o2l ¥{[«{A[Hd Eld ddl SR HI 53] v
4 | Registration of marriage EREIEICTEN
Q.86 Which international agreement was the first legally binding treaty to reduce greenhouse gas emissions?
AlAs1GU AU Gerosel elelsdl HI2 AL HidRAYIY 52U YeH 51122 T vlstsdl ld edl?
Question ID:
Marks 1 10092398
No Options Details Correct Option
1 | Kyoto Protocol sdlel ulelsld v
2 | Paris Agreement URY 5
3 | Montreal Protocol Hle2ldd ulelsle
4 | UNFCCC IENEENERT R R




Q.87

The Stockholm Conference on Human Environment was held in

Hlold YA UR 21 SEH URNE Alome el

Question ID:
Marks 1 10092399
No Options Details Correct Option
1 [ 1970 1970
2 | 1972 1985 v
3 | 1985 1985
4 [ 1992 1992
Q.88 Assertion (A): Article 21 of the Indian Constitution has been judicially interpreted to include the right to a
clean environment. Reason (R): The judiciary in India has expanded the scope of Article 21 through
various environmental PILs.
(celet (A): HIRALY 6{d1R1le1l Wef20e, 21 Hi 2189 UATRWAeL A [E 51261 UHIAQA 5l HIR ULRLS weleledt
Question ID:
Marks 1 10092400
No Options Details Correct Option
1 | Both A and R are true, and R is the correct AW R 0lol YIRAL D, ¥el R ¥ A el UIRIL AHYA v

explanation of A

2 | Both A and R are true, but R is not the correct A 3ol R 0ol YIUL &, U R ¥ A oil A1 4H%d

explanation of A

3 | Aisfalse, but R is true AU 8, URq R 1Y 8.
4 | Both A and R are false A el R 0o W2l 8.
Q.89 Which Indian Constitutional Article was interpreted in the case of Subhash Kumar v. State of Bihar to

include the right to pollution-free water and air?

YN SHIR (A, (MSIR A2elL SAHL sUL ARAY 6i 16111 12D e elelest s3] UeNRIY S ULl wa s

Question ID:
Marks 1 10092401
No Options Details Correct Option
1 | Article 21 V{a89¢, 9 v
2 | Article 19(1)(g) W60¢ 1(1)(D)
3 | Article 32 V{eR89¢, 32
4 | Article 14 WBDE U




Q.90 Match the Following Constitutional Article (a,b,c,d) witr Provision/Meaning (l,ii,iii,iv) a. Article 21, b. Article
48A, c. Article 51A(g), d. Article 32 i. Right to life , includes right to a clean enviro
AUiso A1 3 Aad) oig R W2 (a,b,c,d) BN2LALSRALL (1,iiiiiiv) a. WD 21 b, W20t 48A, . ¥
Question ID:
Marks 1 10092402
No Options Details Correct Option
1 | a-i, b-ii, cHiii, d-iv a-i, b-ii, c-iii, d-iv v
2 | a-ii, bHiii, c-i, d-iv a-ii, b-iii, c-i, d-iv
3 | a-iv, b-i, c-ii, d-iii a-iv, b-i, c-ii, d-iii
4 | a-iii, b-i, c-iv, d-ii a-iii, b-i, c-iv, d-ii
Q.91 Section 66E of the IT Act, 2000 deals with:
21192l w52, 2000 «fl 56 66E lefl u1& Aoifdd &:
Question ID:
Marks 1 10092403
No Options Details Correct Option
1 | Cyber terrorism UL Hldsdle
2 | Identity theft wlwed] IR
3 | Violation of privacy J|YsiAdle] Beatlsd v
4 | Sending offensive messages VLSHS Al HIsddl
Q.92 Berne Convention for the Protection of Literary and Artistic Works Written in 1886, the Berne Convention
was the first major multilateral convention on Copyright law. --------- became a party to this treaty in 1989.
ULE(RUS U 56l s sl 81 HIR Wel ARdel 1eceHi duIdd, olof ARdst STURIBR S1AEL Ue] UM Y
Question ID:
Marks 1 10092404
No Options Details Correct Option
1 | India Hld
2 | Bangladesh 0196122l
3 | Russia ALl
4 | The United States Yoil8eS U v




Q.93 Agreement on Trade-Related Aspects of Intellectual Property Rights is (TRIPS). TRIPS is an international
agreement that ------------------ for all World Trade Organization countries.
ollfegs Auld wlEsR1eAl QUR-UGI[Hd UL UR 52 (TRIPS) 8. TRIPS ¥ A5 widRA¥IY 522 B % [a
Question ID:
Marks 1 10092405
No Options Details Correct Option
1 | Maximum Standards for protection of olllegs Uuldeil &1L HI HedH HlRWIL
intellectual property
2 | Sets minimum standards for intellectual oflleds vUldell QL HI2 dgdH 1R8I «iss] 52 v
property protection
3 | Basic standards Haed dlRaLl
4 | Basic Limitations HANGd HALE L]
Q.94 Assertion (A): Digital signature ensures authenticity and integrity of electronic records. Reason (R): A

digital signature is based on symmetric cryptography

[Auilst (A): [S[¥ed sxddleR 85\ [ets 351Sell UIHLBLSAL A Vi(Sddl Y[ifEdd 53 ]. 51281 (R): [Slsed «

Question ID:

Marks 1 10092406
No Options Details Correct Option
1 | Both A and R are true, and R is the correct Al RO{el YIAL Y, el R ¥ A ol UL AHYA

explanation of A
2 | Both Aand R are true, but R is not the correct A el R 6ol Y11 &, URL R A A «l] Y[ YHA

explanation A
3 | Aistrue, but R is false AURL Y, URIR WIS 8 v
4 | Aisfalse, but R is true AUWIZ 8 URBLIR UIRY &
Q.95 The Conventions (Art. 14 Rome; Art. 4 Geneva) set a minimum term of protection of producers' rights of

twenty years from the end of the year in which the

ARG (Ae]20¢ 18 AH; Wo2D¢ ¥ Weilall) dNell idell dly dN Yl GuleSleil [E 51l 221QLef] defriu

Question ID:
Marks 1 10092407
No Options Details Correct Option
1 | The phonogram was first published (or from its  §leilA1H H1ULH UsL[2d ] &dl (ALl AHUslI v

creation for unpublished recordings)

2 | The first date on which the phonogram was Usal dRIW 5 %=l U sleAlA1H UALlRd LAl Sdl
transmitted.

3 | The first date on which the phonogram was Usdl dlRIW 5 %=l UR sl vel2ld LUl sdl.
displayed.

4 | All of the above. GURLScl dHIH.




Q.96 Assertion (A): The United States follows the principle of separation of powers strictly. Reason (R): The
President of the United States is not a part of the legislature.
(tilel (A): Yoll©2S w2 Utllell [AMI%elatl (Rlegide] §55 Uldel 52 8. 51RQL (R): YelleseS 2 2uell ARU[ [
Question ID:
Marks 1 10092408
No Options Details Correct Option
1 | Both A and R are true, and R is the correct Aol R 0ol YIRAL S, el R U A of AL Y- v
explanation of A
2 | Both Aand R are true, but R is not the correct A el R Go] Y11 &, URL R 4 A o] YA YHdl
explanation A
3 | Aistrue, but Ris false AU Y, URIR WIS &
4 | Alis false, but R is true AUE O UBLR YUY &
Q.97 The concept of substantive Rule of Law was popularized by
Sl 2AL¥etetl YO vAIE G5 [UA ela]]
Question ID:
Marks 1 10092409
No Options Details Correct Option
1 | A.V. Dicey v dl. sl
2 | Joseph Raz AR EEIR])
3 | Lon Fuller dled 562
4 | Ronald Dworkin AeA16S gllsed v
Q.98 The French model of separation of powers is distinct due to
Ut 1A\edl (A 1oels] 5o H1SE Bletl SIREL WG &
Question ID:
Marks 1 10092410
No Options Details Correct Option
1 | Executive dominance over legislature (Al leAY ML UR SRR
2 | Constitutional supremacy over all organs 04| UL UR oH 1611 YRl
3 | Dominant judiciary with strong judicial review — HX0{d AL[RAS AH &L 12 Uejcd tldd AlAdA
4 | Semi-presidential system with dual executive ~ &1dS| SRR A& AH-_URU[A UBLIE] v




Q.99 In Switzerland, the system of constitutional review is:

Razx»desui, iRy qleilel Reu 1A Yoo B:

Question ID:
Marks 1 10092411
No Options Details Correct Option
1 | Centralized through a constitutional court WY R Aeldd GRIL Slegd
2 | Prohibited by the Constitution WY RRL R Ul [dd v
3 | Diffused and indirect UALRA w4 U2l
4 | Executed by international tribunals WIARUBRL [20eAd gRLAGLAIH] A 1dE
Q.100 The concept of “Open Government” was first formally introduced in:
myed] Y51 ofl vle AUy UALRS A 29 s A1) sdl:
Question ID:
Marks 1 10092412
No Options Details Correct Option
1 | USA Freedom of Information Act, 1966 YA YU §ISH AL§ Oe5lHlA w52, 1L v
2 | UK’s Official Secrets Act Y5oil Allsleud (M52 vise
3 | Indian Right to Information Act, 2005 MRAIY HLlsdl 24[as1R [t [4H, 00U
4 | South African Access to Information Act 6 (8181 L[Sl wsUY 2 BesHeA W52




